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Mathematics P1 (Marking Guideline) NSC June 2017 Common Test
122 |y+1=188 OR y+1=-0_88
y= 088 or y=—1,88 2CA for answers
@
L3 ) _3£469
6 o
L 1CA. for irrational
The roots are real, irrational and unequal. 1CA for unequal
. @)
14 y=-2x+1 equation 1 1A for making y the subject of the
2 —xp+y =4 equation 2 formula
Substitute equation 1 into equation 2:
25 —x(-2x+ )+ (20 +1) =4 1CA for substitution
2% +2x% —x+4x" —4x+1=4
2 -3 =
8 —5x=3=0 1CA for standard form
(8x+3)x-1)=0 1CA for factorization
3
x=mg O FT 1 1CA for both x-values
y= I or y=-1 1CA for both y-values
4 6
6
[26]
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Mathematics P1 (Marking Guideline) NSC June 2017 Common Test
QUESTION 2
N.M:H )\Q‘Ml')\H‘NI _ a
x
1A for 5v3-243
5J3-243
|Mlnf\w 1A for 43
45
20 a3
x 1CA for simplification
x= lm)\w
4“3
= 3 1CA for answer
. 4 “)
2.1.2 3 3 3
5x2 —256=x> 1A for x?
4x2 =256 2
* 1A for4x2
%2 =64
2 2
x =643 1A for (64)5
2
= Awa vm
=2*
=16 1 CA for answer
“
221 2
1
LI )
&2
1
“Lliog 1A for &
2 2
1
- A.M 1A for answer
2)
222
_j2"3"+53"
TV 2m 455 1 A for expanding
1 CA for factorisation
1 CA for stmplification
_3 1 CA for answer
5 “)
[14]
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Mathematics P1 (Marking Guideline) NSC. June 2017 Common Test
QUESTION 6
6.1.1 =b
x=—
2a
_—
Al Wu 1A for substitution
2
=1 1A for answer (x-coordinate)

WAI 5 %Wu
2

FED=—2 1 - D+ a=a7

1
2

1CA for y-coordinate
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Mathematics P1 (Marking Guideline)} NSC June 2017 Common Test
QUESTION S
5.1 p=3 1A for p=3
=2 1A for g=-2
a
=2 __2
7 x+3 .
Substitute (~5;0): OR  Substimute (;-3): 1CA for substitution
=—2 2 —3=-2_2
-5+3 1+3
2= 4 _1=4
-2 4
a=—4 a=—4 1CA for answer
. 4
52 | xR, but x=-3
OR
{~o0;—3) or (=3;00) 2A for answer
- @)
53 | Substitute (~3;-2) in y=x-+k:
-2=-3+k 1A for substitution
k=1 1A for answer
; )]
54 -5<x<-3 or x21 |
OR 2A for —-5<x<-3
[-5-3) Ull;e) 1Afor x2>1
. 3
5.5 Gradient
_=3-0 1A for gradient
1+5
=t
2
1 5 1CA for answer
y=T3*3 @
[13]
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3
612 | C(0;4) 1A for answer
€3]
62 L ia-p 1A for L xra=o
2 2
X +2x-8=0
(x+4)x—2)=0 1A for factors
x=—4 or x=2
D(-4; 0) E(2; 0) 2CA for answers
. (3)
6.3 y=a(x+4f 1A for y=a(x+4)
4=a(-2+4) 1A for substituting (~2; 4)
4=a(2f
a=1
y=(x+ 47 1CA for answer
. (3)
64 | y=(x—4F (x—4) OR x? —8x +16
=x* -8x+16 2A for answer )
6.5 1 2A for answer
86 | 7Gr26
1 2
B S S N 1A:—= 32 —x+4—(x+4)
2 2
HIWU% —x+4-x*—8x—16
=3 2 —-0x=12 1A: simplification
2
f=3)-2(-3)
= |wﬁ| 3Y -9(-3)-12
=3 1CA: answer
2 ()
[17]
TOTAL: 100
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